
MODULE 6

LESSON 5

QUIZ

1. Use the binomial theorem to expand (2x− y)4.

A. 16x4 − 32x3y + 24x2y2 − 8xy3 + y4

B. 2x4 − 2x3y + 2x2y2 − 2xy3 + y4

C. 2x4 − 4x3y + 6x2y2 − 2xy3 + y4

D. 16x4 + 32x3y + 24x2y2 + 8xy3 + y4

Go to answer 1

2. Use the binomial theorem to expand (x + 2y)5.

A. x5 + 2x4y + 8x3y2 + 16x2y3 + 16xy4 + 32y5

B. x5 + 10x4y + 40x3y2 + 80x2y3 + 80xy4 + 32y5

C. x5 + 2x4y + 4x3y2 + 8x2y3 + 8xy4 + 16y5

D. x5 + x4y + x3y2 + x2y3 + xy4 + y5

Go to answer 2

3. Use the binomial theorem to expand: (x
2

+ y
3
)4

A. 1
8
x4 + 1

3
x3y + 1

3
x2y2 + 1

9
xy3 + 1

27
y4

B. 1
2
x4 + 2

3
x3y + x2y2 + 2

3
xy3 + 1

3
y4

C. 1
16

x4 + 1
6
x3y + 1

6
x2y2 + 2

27
xy3 + 1

81
y4

D. x4 + x3y + x2y2 + xy3 + y4

Go to answer 3

1



4. Use the binomial theorem to expand (2− 3i)6.

A. 64− 576i2 + 2160i3 + 4320i4 + 2916i5 + 729i6

B. 7813− 6660i

C. 64 + 729i6

D. 2035 + 828i

Go to answer 4

5. The second term of (2x− y)4 is ?

A. −32x3y

B. −4x2y2

C. −16xy3

D. −xy4

Go to answer 5

6. The fourth term of (3x− 5y)6 is ?

A. −11, 390, 625x3y3

B. −67, 500x3y3

C. −300x2y4

D. −2700x4y2

Go to answer 6

7. The coefficient of x5 is the expansion of (x + 1
x
)9 is ?

A. 84

B. 72
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C. 9

D. 36

Go to answer 7

8. Question.

A.

B.

C.

D.

Go to answer 8

9. Question.

A.

B.

C.

D.

Go to answer 9

10. Question.

A.

B.

C.

D.

Go to answer 10
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11. Question. Evaluate:

A.

B.

C.

D.

Go to answer 11

12. Question.

A.

B.

C.

D.

Go to answer 12

13. Question.

A.

B.

C.

D.

Go to answer 13

14. Question.

A.

B.
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C.

D.

Go to answer 14

15. Question.

A.

B.

C.

D.

Go to answer 15

16. Question.

A.

B.

C.

D.

Go to answer 16

17. Question.

A.

B.

C.

D.

Go to answer 17
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18. Question.

A.

B.

C.

D.

Go to answer 18

19. Question.

A.

B.

C.

D.

Go to answer 19

20. Question.

A.

B.

C.

D.

Go to answer 20
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ANSWERS

1. Answer to Question 1 is ”A”.

Go back 1

2. Answer to Question 2 is ”B”.

Go back 2

3. Answer to Question 3 is ”C”.

Go back 3

4. Answer to Question 4 is ”D”.

Go back 4

5. Answer to Question 5 is ”A”.

Go back 5

6. Answer to Question 6 is ”B”.

Go back 6

7. Answer to Question 7 is ”D”.

Go back 7

8. Answer to Question 8 is ””.

Go back 8

9. Answer to Question 9 is ””.

Go back 9
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10. Answer to Question 10 is ””.

Go back 10

11. Answer to Question 11 is ””.

Go back 11

12. Answer to Question 12 is ””.

Go back 12

13. Answer to Question 13 is ”B”.

Go back 13

14. Answer to Question 14 is ””.

Go back 14

15. Answer to Question 15 is ””.

Go back 15

16. Answer to Question 16 is ”C”.

Go back 16

17. Answer to Question 17 is ””.

Go back 17

18. Answer to Question 18 is ””.

Go back 18
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19. Answer to Question 19 is ””.

Go back 19

20. Answer to Question 20 is ””.

Go back 20
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